INDIAN
VILLAGE

FINLAYSON
CHANNEL

o

LOCATION PLAN

Public Works and Travaux publics et
Government Services Services gouvernementaux

Canada Canada

REAL PROPERTY SERVICES
Western Region

SERVICES IMMOBILIERS
Région de I'ouest

AERIAL PHOTO

EXISTING APPROACH
" 3mx55mTO REMAIN

EXISTING GANGWAY
1.75m x 19.68m TO REMAIN

STEEL PILES TO REMAIN.

ELECTRICAL KIOSK AND
CABLING FOR REINSTALLATION TYP .
OF 3. SEE REFERENCE DRAWINGS
FOR DETAILS

REMOVE AND DISPOSE

FLOAT 'B' 2.74m x 20.74m

REMOVE AND DISPOSE
FLOAT'C'
2.74m x 12.65m

REMOVE. SALVAGE
TIMBER - PILE BRACKETS FOR REUSE. TYP OF 6
%// PILES TO REMAIN 5
pLE
& -
L o
|
~ | 2
- \
REMOVE AND DISPOSE
FLOAT ‘A’ 3.65m x 44.5m
(INCLUDES 5.3m X 4.1m
GANGWAY LADING SECTION)
- REMOVE AND SALVAGE

GENERAL NOTES:
1. ALL DIMENSIONS ARE IN MILLIMETERS UNLESS NOTED OTHERWISE
2. ALL ELEVATIONS ARE IN METERS AND ARE TO TIDE AND CHART DATUM.

DO NOT SCALE DRAWINGS

0 ISSUED FOR TENDER 2019-05-09
Revision it it
Revism"/ Description/Description Date/Date
Client/client

Fisheries & Oceans Canada
Small Craft Harbours Branch
Pacific Division
200 - 401 Burrard Street
Vancouver, Canada, V6C 3S4

Project title/Titre du projet

KLEMTU HARBOUR

Approved by/Approuve par
DB

Designed by/Concept par
DJ

Drawn by/Dessine par

DJ

PWGSC Project Manager/Administrateur de Projets TPSGC

PWGSC, Architectural and Engineering Resources Manager/
Ressources Architectural et de Directeur d'Ingénierie, TPSGC

Client/client

Drawing title/Titre du dessin

DEMOLITION
GENERAL ARRANGEMENT
Project No./No. du projet Sheet/Feuille RLZVT;iécvrT‘si::./no.
722835-001 001
OF

AD — PWGSC — ANSI B-L1

- 11xX17

M




A4

A3

SEE

NEW FLOAT CONNECTIONS

NEW LANDING FLOAT
2.74 X 8.08

REINSTALL PILE

L3

Public Works and Travaux publics et
Government Services Services gouvernementaux

Canada Canada

REAL PROPERTY SERVICES
Western Region

SERVICES IMMOBILIERS
Région de I'ouest

DO NOT SCALE DRAWINGS

ISSUED FOR TENDER 2019-05-09

Revision ot iofi Date/Dat
REvisim/ Description/Description ate/Date

Client/client

Fisheries & Oceans Canada
Small Craft Harbours Branch
Pacific Division
200 - 401 Burrard Street
Vancouver, Canada, V6C 3S4

Project title/Titre du projet

KLEMTU HARBOUR

Approved by/Approuve par
DB

Designed by/Concept par
DJ

Drawn by/Dessine par

DJ

PWGSC Project Manager/Administrateur de Projets TPSGC

PWGSC, Architectural and Engineering Resources Manager/
Ressources Architectural ef de Direcfeur d'Ingénierie, TPSGC

BRACKETS TYP OF 6
@
o)
[elsl
@ — / 1"\ SEE DETAIL
L] o /\o%s)
O [
~ \ P
¢ OO
REINSTALL EXISTING ELECTRICAL NEW FLOAT A 3.65 x 44.5
KIOSKS AND CABLES. REPLACE
BLOCKING AND HARDWARE AT
] KIOSKS. RE-ENERGIZE SYSTEM
NEW ANCHOR GROUP TYP OF 8
— (OPTIONAL WORK ITEM)
SEE SHEET 004
NEW FLOAT B
/ 2.74x282
NEW FLOAT CONNECTIONS
NEW FLOAT C
TAIL /20 2.74x215
003 LINE | CHAIN | ANCHOR LOCATION
LENGTH | GROUP (UTM METER)
e L1 27.4m Al 532290m E 5826822m N
L2 27.4m A2 532318m E 5826826m N
L3 27.4m A3 532330m E 5826755m N
L4 27.4m Al 532303m E 5826748m N
— i

NEW ANCHOR CHAIN TYP OF 4
/ (OPTIONAL WORK ITEM)
SEE SHEET 004

Client/client

Drawing fitle/Titre du dessin

CONSTRUCTION
GENERAL ARRANGEMENT

Project No./No. du projet | Sheet/Feuille Revision no./
La Révision no.

722835-001 002

OF

A0 — PWGSC — ANSI B-L1

- 1X17

M




Public Work: d T bli t
i 8078 i (S:(E)gl-ll}llg('\)lTv\ﬁ-IP—\:-\:Ceiv;laYl_éﬁll\éD‘:I;lzGMF'\IA_())(Az'BBMM I*I ggzir;moerntssa:rvices 2§§E%F;L:)ui/cesr:ementaux
R : === CREOSOTE TREATED TIMBER BEAMS BOLTED REAL PROPERTY SERVICES
L ZI 1 T 21 THROUGH JOISTS AT 6 LOCATIONS WITH 19MM Western Region
o o GALV HEX BOLTS. TYP OF 4. SERVICES IMMOBILIERS
MODIFY ONE STANDARD § I'? %I" % U g g;‘ %I %H 18360 Région de 'ouest
MODULE TO PROVIDE 44500 > 7 T%ﬂ:%ﬂﬂ |
OVERALL LENGTH i e M. —een s
/ 87 himmv il |
Nz ay 1 /i 1R/l 1Ry a7 1R iaval 117/l 17 1710 e
‘. o O e %H%%HH% ...... ‘%HH%%H%%H%H‘%H%H 2
3]
{1l zinzalZ 1 himmizinznl7Z 117 himmizinznl 711 7 iimmizinznlZ i iimmizivzal 7117 i Ziinzail
44500
- -— DO NOT SCALE DRAWINGS
/ 1"\ FLOAT A FRAMING AND FLOTATION PLAN
T NI NN NINT ININININT  ININTSNINT NN
‘ ‘ N H N H = ‘ §‘ N H N H @ H = ‘ §‘ N H N H N H 5 ‘ §‘ @ H @ H N H = ‘ @‘ NH ‘ E Teaitend Deserlption/Descripfion Dote/bere
NN TR TN TN T TN [N RN [N TR 1 Gt
28196 Bgémfﬁggﬁbm FOR CLARITY Fisheries & Oceans Canada
—~ - CONTRACTOR MUST INSTALL DECKING ON ALL Small Craf_t !-Iarl_)o_urs Branch
OWNER SUPPLIED FLOATS Pacific Division
(2°\FLOAT B FRAMING AND FLOTATION PLAN 200 - 401 Burrard Street
Vancouver, Canada, V6C 3S4
Project title/Titre du projet
SEE DETAIL/ 4\
ZAN
n KLEMTU HARBOUR
NN I NN NN NINESINNT
N
IR, TN, TNININING, NN &
[ INATNTN TR RN [N TRV TN [ NTATRINSY Ty N e
DB
/ \ Designed by/Concept par
DJ
21490 Drawn by/Dessine par
PWGSC Project Manager/Administrateur de Projets TPSGC
[ 3\ FLOAT C FRAMING AND FLOTATION PLAN Resamrces. Mrchacturan i o' Beciourdingentorc, ToS6
= Client/client
NEW FLOAT C Drawing title/Titre du dessin
MWL 2.74m x 21.5m
EL *275 FLOAT FRAMING PLAN
& MOORING SYSTEM ELEVATION
/5 SEE DETAIL
o2/
r 1
= = > K N VAR X 22NN > m’ ﬁ'» it j il ist
R sty T e P ol s i v/t .
/ A\ FLOAT C ANCHORING 722835-001 003
001/ SECTION oF

A0 — PWGSC — ANSI B-L1 — 11X17 '



Public Works and Travaux publics et
Government Services Services gouvernementaux

Canada Canada

REAL PROPERTY SERVICES
Western Region

SERVICES IMMOBILIERS
Région de I'ouest

DO NOT SCALE DRAWINGS

ISSUED FOR TENDER 2019-05-09

Revision it -
Revism/ Description/Description Date/Date

Client/client

Fisheries & Oceans Canada
Small Craft Harbours Branch
Pacific Division
200 - 401 Burrard Street
Vancouver, Canada, V6C 3S4

ST TIMBER TIE UP RAIL REINSTALL EXISTING PILE ﬁ/
89x140 BRACKET WITH NEW ! STEEL MOORING PILE
CONTRACTOR SUPPLIED 13mm ‘ G45Tmm
10mm 610 . HSS 102x102x6mm x 250mm LNG. GALV HEX BOLTS
PLATE TYP. N‘ TYP. THROUGH FLOAT JOIST !
SUPPLY AND INSTALL NEW ‘ ‘
12.7 x 152 GALV. LAG SCREWS ‘ |
| | ! i
\ L\ Voo W
N f f [ 7 7k 717 Z
\, | ; TN ‘
NN
H N 7 - )
=3 N 7 2y !
3 FLOAT ) _ Z A V | <
\004/ N — UHMW —
N | —
‘ NEW 38x292 ‘
‘ RUB BOARD
| REINSTALL EXISTING UHMW
FLOAT ‘ ON NEW FLOATS. CONTRACTOR
‘ TO SUPPLY NEW 12.7 DIA. x 152
38mm WIDE GALV LAG SCREWS
RUB BOARD ‘
750 |
L1 — 1 L
mMOORING PILE BRACKET mMOORING PILE BRACKET
001/ DETAIL 004/ SECTION
S s
A \ 19mm DIA. GALV. HEX BOLT THROUGH STRINGER
© o
-
| i | STANDARD FLOAT CONNECTOR CLIP (SEE
ol I © ‘ © © DETAIL 3 SHEET 004 )
© of x R76 25mmGALYV SCREW PIN SHACKLE
141mm x 241mm STRINGER | &
e O K 27.4 m LONG 19mm GALV. LONG LINK CHAIN
19mm DIA. GALV. HEX BOLT THROUGH STRINGER 256
@ | \
===
a® ©
25mmGALYV SCREW PIN SHACKLE 0]
=== /
27.4 m LONG 19mm GALV. LONG LINK CHAIN g o o ®)
76 203
© STANDARD FLOAT CONNECTOR CLIP (SEE
DETAIL 3 SHEET 004 ) GALV. STEEL O ‘ o
PL 25 x 540 x 140
© © ©

Project title/Titre du projet

KLEMTU HARBOUR

/2 \ FLOAT CONNECTION

\003 / DETAIL

mFLOAT CONNECTOR CLIP mANCHOR CHAIN FLOAT CONNECTION
004/ DETAIL 003/ DETAIL

32MM DIA x GALV THREADED ROD
COMPLETE WITH TWO (2) PLATE
WASHERS AND FOUR (4) NUTS

MIN. 2 CHAIN LINKS
AFTER LOCK PLATE

e——oo—ax

CONCRETE
ANCHOR BLOCK

DI

32MM DIA x GALV THREADED ROD
COMPLETE WITH TWO (2) PLATE
WASHERS AND FOUR (4) NUTS

CONCRETE ANCHOR BLOCK TO BE STANDARD
LOCK 0.762m x 0.762m x 1.524m BLOCK

CAST WITH100 ID PVC PIPE

THROUGH CENTER

3/4" GALVANIZED LONG LINK
ANCHOR CHAIN

3/4" GALVANIZED LONG LINK
ANCHOR CHAIN

eo—ao—ao—ac

CONCRETE
ANCHOR BLOCK

/5\ ANCHOR CONNECTION
003/ DETAIL

Approved by/Approuve par
D.B.

Designed by/Concept par
D.J.

Drawn by/Dessine par

D.J.

PWGSC Project Manager/Administrateur de Projets TPSGC

PWGSC, Architectural and Engineering Resources Manager/
Ressources Architectural et de Directeur d’Ingénierie, TPSGC

Client/client

Drawing fitle/Titre du dessin

DETAILS

Project No./No. du projet Sheet/Feuille Revision no./
La Révision no.
722835-001 004
OF

A0 — PWGSC — ANSI B-L1 — 11X17

M




TIMBER MEMBERS REQUIREMENTS

ITEM NO. | QTY. TIMBER MEMBER DESCRIPTION MATERIAL
m s o - 1 2 END CROSSTIE (6x10) 141 x 241 x 2743 LG. 14 LB. CREOSOTE TREATMENT #1 BTR FIR
M. m. . o 2 2 FLANGE END (6x8) 141 x 191 x 1372 LG. 14 LB. CREOSOTE TREATMENT #1 BTR FIR
_ 3 2 END RAIL (4x6) 89 x 141 x 2460 LG. ACZA
703 T ° P 4 2 JOIST END 'B’ (6x6) 141 x 141 x 2281 LG. 14 LB. CREOSOTE TREATMENT #1 BTR FIR
REF g = 5 1 STANDARD CROSSTIE (6x6) 141 x 141 x 2743 LG. 14 LB. CREOSOTE TREATMENT #1 BTR FIR
6 14 END BLOCK (6x6) 141 x 141 x 300 LG. ACZA
7 2 STRINGER END (6x10) 141 x 241 x 1372 LG. 14 LB. CREOSOTE TREATMENT #1 BTR FIR
g 8 1 MODIFIED JOIST (6x6) 141 x 141 x 3359 LG. 14 LB. CREOSOTE TREATMENT #1 BTR FIR
i T m m m 9 2 SPACER END 'B' (6x6) 141 x 141 x 575 LG. ACZA
10 2 SPACER END (6x6) 141 x 141 x 378 LG. ACZA
e 11 2 RAIL END (4x6) 89 x 141 x 952 LG. ACZA
614 12 2 RAIL END 'B’ (4x6) 89 x 141 x 378 LG. ACZA
= = REF 13 1 LOWER FLANGE SPLICE (6x6) 141 x 141 x 900 LG 14 LB. CREOSOTE TREATMENT #1 BTR FIR
o o i 14 1 UPPER STRINGER SPLICE (6x6) 141 x 141 x 1140 LG. ACZA
15 1 UPPER FLANGE SPLICE (6x6) 141 x 141 x 900 LG. 14 LB. CREOSOTE TREATMENT #1 BTR FIR
: g 16 1 LOWER STRINGER SPLICE (6x6) 141 x 141 x 900 LG. 14 LB. CREOSOTE TREATMENT #1 BTR FIR
HARDWARE REQUIREMENTS
ITEM NO. | QTY. DESCRIPTION
17 76 WASHER 19mm DIA.
18 38 HEX NUT 19mm DIA.
19 7 HEX BOLT 19 x 406mm
20 8 HEX BOLT 19 x 660mm
21 4 HEX BOLT 19 x 508mm
o @ e 22 2 HEX BOLT 19 x 356mm
e 23 11 HEX BOLT 19 x 300mm
e 24 6 HEX BOLT 19 x 557mm

ALL STAMPS LOCATED
ON THIS FACE

ALL STAMPS LOCATED ON THIS FACE @ ALL STAMPS LOCATED ON THIS FACE

2.743m WIDE STANDARD BACK END MODULE

ALL STAMPS LOCATED ON THIS FACE

REV

I*I Fisheries PEches
& Ocedns et Oceans

Small Craft

2.743m WIDE STANDARD FRONT END MODULE

UNLESS OTHERWISE SPECIFIED: DATE | NAME
DIMENSIONS ARE ININCHES | prawn 12/11| WSL Harbours Branch
2.743m WIDE END FLOAT MODULES TOLERANCES
. FRACTIONAL CHECKED

ANGULAR: MACH#  BEND *
TWO PLACE DECIMAL  + ENG APPR. .
THREE PLACE DECIMAL * P Tme: 2.743m WIDE FLOAT
INTERPRET GEOMETRIC QA. 2011 REVISION

WostCAD PROPRIETARY AND CONFIDENTIAL TOLERANCING PER: py—,

N THE INFORMATION CONTAINED IN THIS :
esti/ DRAWING S THE SOLE PROPERTY OF MATERIAL _ SIZE |DWG. NO. REV
. HER MAJESTY'S GOVERNMENT OF CANADA
Services ANY REPRODUCTION IN PART OR AS A NS D FM9-END-200 G
Ltd WHOLE WITHOUT THE WRITTEN PERMISSION NEXT ASSY USED ON -
. OF HER MAJESTY'S GOVERNMENT OF
CANADA IS PROHIBITED. APPLICATION DO NOT SCALE DRAWING SCALE: 1:12 | WEIGHT: | SHEET 1 OF 1

8 7 6 5 IT\ 4 3 I 2 I 1




8 7 6 5 4 3 2 1

| | \'4
STAMP FACE 1 FOR FRONT ()20.6 THRU $20.6 THRU STAMP EACE $20.6 THRU ~ ©20.6 THRU
\ TYP. 6 PLACES | /L) ®80T25 \\ /" TYP.7 PLACES | ¢80V 25
71

1 / Oi Cg I i { 71 / CJ ¢
C|> | T (o] t o (o] %:::: L [ [olXe] (o] [ Cl) _,I::: L
71—~ =
241 REF T 241 REF
T < 397 ’l 153 300= ?20.6 THRU
- 062 615 — TYP.
- 1372 - STAMP FACE 1 FOR BACK 757 ——
| 1781 -— —=— 877 —
—~ 2347 - - 922
— 2672 -— —— 1072 - Y 4 o - ¢
- 2743 - —~—— 1222 — | | |
—~— 1372 — 75 —= }<— L 141
END CROSSTIE STRINGER END ~ 270 REE
141x241 (6x10) @ 141x241 (6x10) @ —~—— 420
SCALE: 1-16 g%péLE:IEé 6D ©20.6 THRU -0 870
$20.6 (2 REQUIRED) (2 REQUIRED) _— ffgw"’ STAMP FACE - 1065 -
TYP. - — 1140
! (o] o] (o] (o] ] [e] I ¢
| AR S N SR R U S i UPPER STRINGER SPLICE
71— —~— E © © © ©®© ©® ° © ==
~— 615 141 REF 153 —= (=— L 141x141 (6x6)
- 757 615 141 REF SCALE: 1-12 @
- 922 STAMP FACE - (1 REQUIRED)
- 1072 —= - 1233 1836 —
- 1222 — - 1987 -—
- 1372 — = - 2604 -— ©20.6 THRU
- 3205 -— TYP.
FLANGE END - 3359 —
141x191 (6x8)
o8 (2) MODIFIED JOIST : T’ o o . ¢
(2 REQUIRED) 141x141 ( 6x6) 150 =] L
1930 | SCALE: 1-16 *‘ 141 REF
- = 955 (1 REQUIRED) 300
. I 5 —— 600 ———
255 ;<— ™ b A (20.6 THRU 755?00
— TYP. : — =
1230 _ 141 REF / STAMP FACE STAMP FACE
- 2205 - _ ©20.6 THRU 7. ] ¢ L} ] UPPER FLANGE SPLICE
- 2460 - TYP. | I 7 . . #
141x141 (6x6)
~ 300 = i - 300 = L 141 REF SCALE: 1-12
141 REF
END RAIL —~—— 495 - 378 —= (1 REQUIRED)
©20.6 THRU ~——— 575 —=
X (2x0) | $80V 25 .
ALE: 1-16 Te)) 20.6 THRU
(2 REQUIRED) TYP. SPACER END 'B SP-'ﬁlCER END TYP.
141x141 (6x6) X141 (6x6) ‘Q
SCALE: 1-12 ( : ) SCALE: 1-12
¢ (2 REQUIRED) (2 REQUIRED) o o o\ E— ¢
, [ |
@ ® ®© - | I
A — ?20.6 THRU —= 300 141 REF
-~ 757 / STAMP FACE 250
- 1987 STAMP FACE )
J ¢ ¢ —~ 900
— 2129 - o
- 2281 - | | |
- 300 = B =300 = B LOWER STRINGER SPLICE
n' 141 REF 141
JOIST END 'B ~ 877 —~—— 378 —=—| 141x141 (6x6)
141x141 (6x6) @ = 952 . SCALE: 1-12
SCALE: 1-16 RAIL END 'B (1 REQUIRED)
(2 REQUIRED) RAIL END 89x141 (4x6)
SCALE: 1-12
- 962 89x141 (4x6) (2 REQUIRED)
- 821 = SCALE: 1-12
o o (o] o (o] I (2 REQUIRED)
™ ¢%20.6 THRU
71 »{ |=—
T e o t TYP.
= 1781 = o] (e} o] C/ 1 ¢
- 1922 2672 - _ $20.6 THRU ] R .
= 2743 || TYP. 150 === *‘ t
~ 300 141 REF
STANDARD CROSSTIE . 600
141x141 (6x6) — 750 -—
SCALE: 1-16 - 900 — =

(1 REQUIRED)
LOWER FLANGE SPLICE

REV

$20.6 THRU £ 141x141 (6x6)
SCALE: 1-12 @
""" 1 REQUIRED
I ( Qu ) * Fisheries Péches
150 = }_,_ E 141 REF & Oceans et Oceans

300 —f=—=
UNLESS OTHERWISE SPECIFIED: DATE NAME Small Craft
END BLOCK DIMENSIONS AREININCHES [ oRawn 12/11] WSL Harbours Branch
141x141 (6)(6) ;RrTGCJlLC/iE‘:AAt\ZCH: BEND + E:;CKPE;?
Wi + A . .
SCALE: 1-16 TREEPLACEDECMAL £ [——— TME: 2 743m WIDE FLOAT
! ‘ MODULE
(1 2 REQUIRED) PROPRIETARY AND CONFIDENTIAL ;gf;;EEE%EGO'g\EE;Rlc i;\ N 201 1 REVISION
N MMENTS:
R nereoaCa N - SEE o6 No. =
services HOLES ARE TO BE DRILLED CENTER LINE e e A ——— D| Fmo-END-201 E
H UNLESS OTHERWISE NOTED -
CANADA IS PROHIBITED. APPLICATION DO NOT SCALE DRAWING SCALE: 1:16 | WEIGHT: | SHEET 1 OF 1

8 7 6 5 f 4 | 3 T ) T :




TIMBER MEMBERS

ITEM

o NO. QTy. TIMBER MEMBER DESCRIPTION MATERIAL
1 5 CROSS TIES (6x6) 141 X 141 x 2743 LG 14 LB CREOSOTE TREATMENT #1 BTR FIR
2 2 FLANGE (6x8) 141 x 191 x 6706 LG 14 LB CREOSOTE TREATMENT #1 BTR FIR B
3 2 STRINGER (6x10) 141 x 241 x 6706 LG 14 LB CREOSOTE TREATMENT #1 BTR FIR
m 4 4 JOISTS (6x6) 141 x 141 x 4267 LG 14 LB CREOSOTE TREATMENT #1 BTR FIR
5 6 RISERS (6x6) 141 x 141 x 300 LG ACZA
6 2 RAIL (4x6) 89 x 141 x 5950 LG ACZA -
7 2 LOWER FLANGE SPLICE (6x6) 141 x 141 x 900 LG 14 LB CREOSOTE TREATMENT #1 BTR FIR
8 2 UPPER FLANGE SPLICE (6x6) 141 x 141 x 900 LG 14 LB CREOSOTE TREATMENT #1 BTR FIR
13 2 UPPER STRINGER SPLICE (6x6) 141 x 141 x 1140 LG ACZA
15 2 LOWER STRINGER SPLICE (6x6) 141 X 141 x 900 LG 14 LB CREOSOTE TREATMENT #1 BTR FIR
17 5 FOAM BUOYANCY BILLET 1000 X 597 x 2438 LG. i
ALL STAMPS LOCATED ON THIS FACE 19 28 DECK PLANKS (12x2) 305 x 38 x 2440 LG ACZA
D
HARDWARE REQUIREMENTS
ol | QTy. HARDWARE
9 14 HEX BOLT 19 x 300mm
10 100 WASHERS 19 DIA.
11 50 HEX NUT 19mm DIA. M
12 10 HEX BOLT 19 x 508mm
14 16 HEX BOLT 19 x 660mm
e STANDARD 2.743M WIDE FLOAT MODULE - 2011 REVISION 16 10 HEX BOLT 19 x 406mm
AL STAMPS LOGATED ON THIS I:AC;VITH 141x141 CROSSTIE, 141x141 RISERS 20 192 100mm GALVANIZED SPIRAL NAILS c
~~—— 757 —— 1372 —— 1372 —— 1372 —— 1218 ———
oo o ) o o o o] o © © © © © 6 O _g
o © ® © © ® © ©) © a
° ° ° © © © © © © 5
FRONT
© © © © © © © © o ° —
o ° © © © © © © ©
I * I QS%eCZZ%S e+P%CCZeCJSﬂS
TSt —T— Small Craft
°o o | © ©® © © © © © ©® - © © © © IMESIONS ARENNCHES [opaun 12/04 | BB Harbours Branch A
w oo mme '2011 REVISION'
- PLAN VIEW e ceonere o 2'74?=Tc‘)’ﬂ'ﬁng1l-)ﬂ\£ARD
WestCAD DRAWING S THE SOLE PROPERTY OF MATERAL comEe SIZE [DWG. NO. REV
CANADAIS PROMIBIED. APPLCATION DO NOT SCALE DRAWING SCALE: 1:20 | WEIGHT: | SHEET 1 OF 1
8 7 6 T 3 | 2 | ]




STAMP FACEK\< 4267 - ¢
B o708 - FRONT & @ @@ ® @ @ &)
- 6556 -— ‘L
— 6406 153 —=— L— 141
71 — 6211 - 757 REF E
- 6091 ,‘ STAMP FACE FOR SOUTH MEMBER 1371 | 20.6 THRU
1 - 1525 — = '
FRONT —~|+~ + 4+ + ++ ++ + + + + + ++++ «ﬁ ++ / ¢ - 229 — = AT
I — .
STAMP FACE/ F t - 3501 -
FOR NORTH 150 — — 241 - 4115 -
MEMBER 300 — |~ REF.
JOIST
— 495 ©20.6 THRU 141 x 141 (6X6) —
I (4 REQUIRED) 962
e BE— —_——
—~ 1222 —= ?20.6 THRU —
- 1672 — = ©20.6 THRU STAMP FACE ' 4 I —
- 1878 — = \\
[ 21 29 — ——
|t 3250 — ! - —+— _+_ _+_ _+_\*k _+_ :
- 3501 — | - 71 141 J‘
- 4472 — J - 821 REF.
- 4719 - 150 - 141 962
| 4873 -— 300 REF. e 1781 ———— =
- 5034 — - : 1922 — = N
- 5184 —
- 2743 -—
5484 — RISER
141 x 141 (6x6 CROSSTIE
- 5634 — SCALE: 1-20 141 x 141 (6x6)
(6 REQUIRED) (gcnébﬁl ;—ég)
STRINGER
141 x 241 (6x10)
SCALE: 1-20 1140 '
(2 REQUIRED) D
STAMP FACE — 6706 —‘ ¢ T 3+ T ¥
75 TYP. —= }«— 141 J‘
FRONT 4 S e e S <+ <+ i s S S S -+ 1 = 270 REF.
T 71 —=— : o
eshns b e TYP. ©20.6 THRU
REF. 420 | TYP.
300 ——=—= 900 TYP.
. 757 = ?20.6 THRU <
- 1072 —= TYP. ?3?: S B UPPER STRINGER SPLICE
= 1221252; 150' 141 141 x 141 (6x6)
- 1672 —= TYP. '*_ ( REF. SCALE: 1-20
2 REQUIRED)
- 2129 — = (
- 3501 — RSV S S S
- 4719 — T c
s 4873 —
— 5034 — - 900 —
—~ 5184 -— $>Y2Po.6 THRU ¢
< 5484 » ) —+— —+— —+— p——_—
—~ = LOWER STRINGER SPLICE
— 6091 — ‘L 141
- 6556 — SCALE: 1-20 150 TYP. —= - ©20.6 THRU
- 6635 ——— (2 REQUIRED) 300 TYP. — == TYP B
LOWER FLANGE SPLICE
FLANGE 141 x 141 (6x6)
SCALE: 1-20
141 x 191 (6x8) (2 REQUIRED)
SCALE: 1-20
(2 REQUIRED) - 900 = ¢ A a
B
_+_ _+_ —+— p———
©®20.6 THRU B 1000
STAMP FACE TYP. 150 TYP. — L_\ t 141
\\ 200 TYP $206 THRU - pec '
T .
- F . j - 2438 — - 597 =
— 141 REF. UPPER FLANGE SPLICE FOAM BOUYANCY BILLET -
1500 141 x 141 (6x6) SCALE: 1-25
— 2872 SCALE: 1-20 o -
— 4094 — (2 REQUIRED) (5 REQUIRED)
: . Péches
- 5833 — I*I QS%GC;'Z?S et Oceans
- 5950 —
UNLESS OTHERWISE SPECIFIED: DATE NAME Small Craff
RAI L DIMENSIONS ARE IN INCHES DRAWN 12/04 BB H d rb ours B Franc h A
89 x 141 (4X6) lzg/k?ﬁgﬁ:f; CHECKED
SCALE: 1-20 WO PLACEDECMAL = | NG APPR. '2011 REVISION'

WestCAD
Services
Ltd.

W

(2 REQUIRED)

TITLE:

THREE PLACE DECIMAL

PROPRIETARY AND CONFIDENTIAL

[THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF

INTERPRET GEOMETRIC

TOLERANCING PER:

HOLES ARE TO BE DRILLED CENTER LINE
UNLESS OTHERWISE NOTED.

HER MAJESTY'S GOVERNMENT OF CANADA
ANY REPRODUCTION IN PART OR AS A
WHOLE WITHOUT THE WRITTEN PERMISSION
(OF HER MAJESTY'S GOVERNMENT OF
CANADA IS PROHIBITED.

MATERIAL

NEXT ASSY

USED ON FINISH

MFG APPR. 2.743m WIDE STANDARD
FLOAT MODULE

' SIZE | DWG. NO. REV

D FM9-ST-001 | H

APPLICATION

DO NOT SCALE DRAWING

SCALE: 1:20 | WEIGHT:

| SHEET 1 OF 1

i : | ;

2

I
1




2743

FRONT

WestCAD
Services
[td.

FLANGE
141 x 191 x 6706
2 REQUIRED

FIGURE 1 ASSEMBLY
SCALE: 1-20

HEX BOLT 19 x 508
C/W WASHERS AND NUTS
10 REQUIRED 8

2461
REF.

FIGURE 3 ASSEMBLY

SCALE: 1-20

1372

STRINGER
141 x 241 x 6706
2 REQUIRED

F
\\
E
CROSS TIES P
141 x 141 x 2743
5 REQUIRED
FIGURE 2 ASSEMBLY
SCALE: 1-20
é_
HEX BOLTS 19 x 300
C/W WASHERS AND NUTS
14 REQUIRED
C
JOISTS
141 x 141 x 4267
4 REQUIRED
[a)
B
I*I Fisheries Péches
& Ocedns et Oceans
UNLESS OTHERWISE SPECIFIED: DATE NAME S md | | C ra ﬂ-
FIGURE 4 ASSEMBLY gozseovos mon  |1eg] B8 | Harbours Branch 7
SCALE:1-20 e 2005 REVISION'
MFG APPR. 2.743m WIDE STANDARD
PROPRIETARY AND CONFIDENTIAL '%TE;EETC?NESLAEEQF'C 22AAMENTS. FLOAT MODULE ASSEMBLY
Eﬁ%ﬁﬁ’é}*}}??&??é@?%ﬁ? s MATERAL ' SIZE |DWG. NO. REV
:CFE%%E%E%\EH:%E SEEC\%ZEZZA NEXT ASSY USED ON FINISH D FM9-ST-002 E
CANADA S PROHBTED, APPLICATION DO NOT SCALE DRAWING SCALE: 1:20 | WEIGHT: | SHEET 1 OF 1

‘T\ 4 3 ! > |

1



RISER
UPPER STRINGER SPLICE

141 X 141 X 305 141 x 141 x 1140 HEX BOLT 19 x 660

TYPICAL 6 PLACES 2 PLAGES TYP. C/W WASHERS AND NUTS

16 REQUIRED

RAIL
89 x 141 x 5950
TYPICAL 2 PLACES

LOWER STRINGER SPLICE
141 x 141 x 900
2 PLACES TYP.

UPPER FLANGE SPLICE
141 x 141 x 900
2 PLACES TYP.

HEX BOLT 19 x 406
C/W WASHERS AND NUTS
7 REQUIRED

LOWER FLANGE SPLICE
141 x 141 x 900
TYP. 2 PLACES

HEX BOLT 19 x 406
C/W WASHERS AND NUTS
3 REQUIRED

FIGURE 6 ASSEMBLY

FIGURE 5 ASSEMBLY

REV

SCALE: 1-20 SCALE: 1-20
FOAM BUOYANCY BILLET
610 x 597 x 2438
TYP. 4 PLACES
' ' Péches
* Fisheries F0
FIGURE 7 ASSEMBLY * Qeeans T
SCALE: 1-20 UNLESS OTHERWISE SPECIFIED: DATE | NAME Small Craft
DIMENSIONS ARE ININCHES | prawN 12/04 | BB Harbours Branch
TOLERANCES:
FRACTIONAL £ CHECKED
ANGULAR: MACH:  BEND + |~ —— 2005 REVISION
TWO PLACE DECIMAL  * . TITLE:
THREE PLACE DECIMAL G APPR. 2 743m WIDE STANDARD
- PROPRIETARY AND CONFIDENTIAL TOLERANCIG pER 2;\MENT3- FLOAT MODULE ASSEMBLY
festeap S et AT - - SZE [DWo. Mo, =
services e OF SanAon D FM9-ST-003 D
Ltd WHOLE WITHOUT THE WRITTEN PERMISSION NEXT ASSY USED ON -
OF HER MAJESTY'S GOVERNMENT OF
CANADA IS PROHEBITED. APPLICATION DO NOT SCALE DRAWING SCALE: 1:20 | WEIGHT: | SHEET 1 OF 1

I I
8 7 6 5 ‘? 4 3 2 1



ALL STAMPS LOCATED ON THIS FACE

ALL STAMPS LOCATED ON THIS FACE

WestCAD
E Services
Ltd.

3.65m WIDE FLOAT END MODULES

ALL STAMPS LOCATED ON THIS FACE

ALL STAMPS LOCATED ON THIS FACE

TIMBER MEMBER REQUIREMENTS

ITEM NO. | QTY. TIMBER MEMBER DESCRIPTION MATERIAL
1 2 END CROSSTIE (6x10) 141 x 241 x 3658 LG. 14 LB. CREOSOTE TREATMENT #1 BTR FIR
2 2 FLANGE END (6x8) 141 x 191 x 1372 LG. 14 LB. CREOSOTE TREATMENT #1 BTR FIR
3 2 END RAIL (4x6) 89 x 141 x 3374 LG. ACZA
4 3 JOIST END 'B’ (6x6) 141 x 141 x 2281 LG 14 LB. CREOSOTE TREATMENT #1 BTR FIR
5 1 STANDARD CROSSTIE (6x6) 141 x 141 x 3658 LG 14 LB. CREOSOTE TREATMENT #1 BTR FIR
6 16 END BLOCK (6x6) 141 x 141 x 300 LG. ACZA
7 2 STRINGER END (6x10) 141 X 241 x 1372 LG. 14 LB. CREOSOTE TREATMENT #1 BTR FIR
8 1 MODIFIED JOIST (6x6) 141 x 141 x 3359 LG. 14 LB. CREOSOTE TREATMENT #1 BTR FIR
9 2 SPACER END 'B' (6x6) 141 x 141 x 575 LG. ACZA
10 2 SPACER END (6x6) 141 x 141 x 378 LG. ACZA
11 2 RAIL END (4x6) 89 x 141 x 952 LG. ACZA
12 2 RAIL END 'B’ (4x6) 89 x 141 x 378 LG. ACZA
13 1 LOWER FLANGE SPLICE (6x6) 141 x 141 x 900 LG. 14 LB. CREOSOTE TREATMENT #1 BTR FIR
14 1 UPPER STRINGER SPLICE (6x6) 141 x 141 x 1140 LG. ACZA
15 1 UPPER FLANGE SPLICE (6x6) 141 x 141 x 900 LG. 14 LB. CREOSOTE TREATMENT #1 BTR FIR
16 1 LOWER STRINGER SPLICE (6x6) 141 x 141 x 900 LG. 14 LB. CREOSOTE TREATMENT #1 BTR FIR

HARDWARE REQUIREMENTS

ITEM NO. | QTY. DESCRIPTION
18 7 HEX BOLT 19 x 406mm
19 2 HEX BOLT 19 x 356mm
20 13 HEX BOLT 19 x 300mm
21 8 HEX BOLT 19 x 557mm
22 HEX BOLT 19 x 508mm
23 84 WASHER 19mm DIA.
24 8 HEX BOLT 19 x 660mm
~ ~e -~ 25 42 HEX NUT 19mm DIA.
I | P
703 T
REF o o Mf
Y
T
N A T
703
o o REF

REV

PEches
et Oceans

* Fisheries
& Oceans

Small Craft

UNLESS OTHERWISE SPECIFIED: DATE NAME

DIMENSIONS ARE IN INCHES
TOLERANCES:
FRACTIONAL +

ANGULAR: MACH+  BEND #*

TWO PLACE DECIMAL  *
THREE PLACE DECIMAL

Harbours Branch

PROPRIETARY AND CONFIDENTIAL
[THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
HER MAJESTY'S GOVERNMENT OF CANADA
ANY REPRODUCTION IN PART OR AS A
WHOLE WITHOUT THE WRITTEN PERMISSION
(OF HER MAJESTY'S GOVERNMENT OF
CANADA IS PROHIBITED.

INTERPRET GEOMETRIC
TOLERANCING PER:

MATERIAL

DRAWN 12/11 | WSL
o TME 3 65m WIDE FLOAT
on MODULE
2011 REVISION
SIZE |DWG. NO. REV

NEXT ASSY

USED ON

FINISH

D| FM12-END-200 | J

APPLICATION

DO NOT SCALE DRAWING

SCALE: 1:12 | WEIGHT: | SHEET 1 OF 1

2

1



8

v

4

STAMP FACE 1 FOR FRONT 20,6 THRU $20.6 THRU $20.6 THRU
21 THRU ‘ L osvas 4" =71 ___STAMP FACE 1 FOR BACK / TYP.-TPLACES /L) P80V25 iy
STAMP .
; 71 / —'—o —'—o / F——— ¢ FACEj\ /
o o o o ° ‘ ° oo o 6o o o ; p— <|3 \|3 | o) ) o Ii—— t
Tﬂ_, I ‘L t L =401 = | 241 t —— =71 241 | 75 —= L141 i
153 153 962 — REF 21 300> REF —= 270 REF
1353 - 615 —= —~=— 420
— 1758 -— - 757 - — 720 —=
— —
~ 2305 — —~ 922 =
- — 1140
- 2696 - 12221 072 : =
~ 3257 ~ — 1372 —= =
= 3587 - UPPER STRINGER SPLICE
20.6 THRU
- 3658 - P PR STRINGER END
Typ 141x241 (6x10) 1s4<1:7x1|_€ (16>1(62;)
: SCALE: 1-16 : 1- @
END CROSSTIE (2 REQUIRED) (1 REQUIRED)
141x241 (6x10)
SCALE: 1-16
(2 REQUIRED) © ® © ©®© © © © === i
$20.6 THRU 153 —=—  |=— f
TYP. ¢ ~—— 615 141
- 1233 REF ?20.6 THRU
o o} o o o i - 1836 = .
‘i’ P T Y N i - 1987 = STAMP FACE / TYP
- - 2604 —= / ]
'~ 615 STAMP @ Q o =
FACE 141 — 3205 ——= —
~— 757 922 REF e 3359 ——= 150 —<—>‘ \\ 141
— 1072 —= MODIFIED JOIST = 300 REF B
B 1222 —=— 141x141 (6x6) - 600 ——=
— 1372 - SCALE: 1-16 < 750 —
(1 REQUIRED)
FLANGE END 20,6 THRU STAMP EACE —~ 900 -—
141x191 (6x8) TYP UPPER FLANGE SPLICE
SCALE: 1-16 '
P ?20.6 THRU x1H (6x6) °
— 3115 -— \O . SCALE: 1-12 @
| (2163 ) - | c|> e ¢ \O ] ¢ (1 REQUIRED)
-~z = A i
o B L =300 = 1
[ ™ I I 5 - 575 —= REF —~—— 378 —=— REF ?20.6 THRU
e $20.60 THRU b SPACER END " <
B 2163 TYP REF SPACER END 'B' 9 3 == o
141x141 .
- 3115 - 141x141 (6x6) 141x141 (6x6) (10) 150 =] | 141
- 3374 - SCALE: 1-12 (2 REQUIRED) —~ 300 REF
(2 REQUIRED) ~——— 600
END RAIL (Reversable) STAM — 750 —=
?20.6 THRU P FACE
89x141 (4x6) @20+?{'I£HRU / STAMP FACE / — 900
SCALE: 1-16 .
ﬁf%&;‘%‘; (2 REQUIRED) 7 \T = ¢ c
X | | o [ = S o LOWER STRINGER SPLICE
=300 = : 141 —-— 378 —= REF
— 877
® ® O - R 141x141 (6x6)
© ©® g —~ 952 — EF -
— SCALE: 1-12
—] =71 t RAIL END 'B' (1 REQUIRED)
<—615—>‘ 141 RAIL END
- 757 REF 89x141 (4x6)
- 1987 - g%ﬂfé_(ilﬁﬁz) SCALE: 1-12 u
—~ 2129 — STAMP FACE (2 REQUIRED) (2 REQUIRED)
- 2281 —
JOIST END 'B' $20.6 THRU
TYP.
141x141 (6x6) /
SCALE: 1-16 7
(3 REQUIRED) > ° — o
1000 )
%20.6 THRU — (1900 ) = 150 =] ’
TYP. — (1759 ) = - 300 141
141 - 600
- (a2t = { FEF = 750 =
| T T T T R s $20.6 THRU
71 o T 7 LOWER FLANGE SPLICE B
— 821 | ] 141x141 (6x6)
962 SCALE: 1-12
: 1759> - 0" 150 (1 REQUIRED)
- 1900 - 300 i Pach
- 2696 — I*I ngenes et %Cceeosns
—~ 2837 — END BLOCK ceans
: 3587 3658 >> 141x141 (6x6) UNLESS OTHERWISE SPECIFIED: DATE | NAME Small Craft A
SCALE: 1-12 DIMENSIONS ARE IN INCHES DRAWN 12/11| WSL Harbours Branch
(16 REQUIRED) N
TWO PLACE DECIMAL : "~ |ENG APPR. 1me: 3.65m WIDE FLOAT
STANDARD CROSSTIE (Reversable) S Y MODULE
WestCAD 141x141 (6X6) oo 2011 REVISION
Services SCALE: 1-16 SZE [DWG. NO. REV
i (1 REQUIRED) HOLES ARE TO BE DRILLED CENTERLINE UNLESS OTHERWISE NOTED [/t anme evsoon | nexass Usepon |FNSH D FM12-END-201 | J
CANADA S PROMBIED. APPLICATION DO NOT SCALE DRAWING SCALE: 1:16 | WEIGHT: | SHEET 1 OF 1
8 7 6 5 IT\ 4 3 ! 2 ! 1



TIMBER REQUIRED

ol | QTY. TIMBER MEMBER DESCRIPTION MATERIAL
1 5 CROSS TIES (6x6) 141 x 141 x 3658 LG 14 LB CREOSOTE TREATMENT #1 BTR FIR F
2 2 FLANGE (6x8) 141 x 191 x 6706 LG 14 LB CREOSOTE TREATMENT #1 BTR FIR
3 2 STRINGER (6x10) 141 x 241 x 6706 LG 14 LB CREOSOTE TREATMENT #1 BTR FIR
0 4 6 JOISTS (6x6) 141 x 141 x 4267 LG 14 LB CREOSOTE TREATMENT #1 BTRFIR |
5 6 RISER (6x6) 141 x 141 x 305 LG ACZA
6 2 LOWER STRINGER SPLICE (6x6) 141 x 141 x 900 LG 14 LB CREOSOTE TREATMENT #1 BTR FIR
E
7 2 LOWER FLANGE SPLICE (6x6) 141 x 141 x 900 LG 14 LB CREOSOTE TREATMENT #1 BTR FIR
8 2 UPPER FLANGE SPLICE (6x6) 141 x 141 x 900 LG 14 LB CREOSOTE TREATMENT #1 BTR FIR
9 2 UPPER STRINGER SPLICE (6x6) 141 x 141 x 1140 LG ACZA
10 2 RAIL (4x6) 89 x 141 x 5950 LG ACZA B
21 28 DECK PLANKS (12x2) 305 x 38 x 3352 LG ACZA
ALL STAMPS LOCATED ON THIS FACE
17 5 FOAM BOUYANCY BILLETS 1000 x 597 x 3352 LG
D
HARDWARE REQUIRED
ol | ary. HARDWARE
é_
11 21 HEX BOLT 19 x 300mm
12 114 WASHERS
FRONT
o STANDARD 3.657M WIDE FLOAT MODULE - 2011 REVISION
WITH 141x141 CROSSTIE, 141x141 RISERS 13 7 HEX NUT 19mm DIA .
ALL STAMPS LOCATED ON THIS FACE 14 16 HEX BOLT 19 x 660mm
15 10 HEX BOLT 19 x 406mm
757 —=——=———— 1372 —— 1372 —— 1372 —— 1218 ——=
16 10 HEX BOLT 19 x 508mm
19 264 GALVANIZED SPIRAL NAILS - 100mm LG IS
°o o © ® ® ® ©@l0ee® © 60 0] B
|
| ® © ® 06 © ® © ® | =
° | ® ® © G ® ) ® © |
B
| ® ® ® G ® ® ® ® | o
| ® ® ® ® ® ® ® ® |
FRONT
[ ® © ® ©® © ® © ® | ° ' Fisheries PEches
| @ © © © © © © @ | & Oceans et Oceans
UNLESS OTHERWISE SPECIFIED: DATE NAME Small Craft
DIVENSIONS AREINNCHES | orawn 1211 wsL Harbours Branch A
| A o+ [CE
° o[ @ ® ® ©le® ©© -] [@e® © 6 | TREE PACE DECAL & [ TME: '2011 REVISION'
3.657m WIDE STANDARD
- PROPRIETARY AND CONFIDENTIAL %fg;if,gﬁg EAEE,{R'C (CQQAAMENTS‘ FLOAT MODU LE ASSEMBLY
WestCAD PLAN VIEW BRAWING 5 THE SOLE PROPERTY OF MATERIAL ' SIZE |[DWG. NO. REV
Services SCALE: 1-25 FANY REPRODUGTION INPART OR AS A —— D FM12-ST-000 |
J_zt d . VOV;HOéRE XAVETé);JJ;gEOV\V/EI;F\‘EuEZERgA;SSION NEXT ASSY USED ON
CANADA IS PROHBBITED. APPLICATION DO NOT SCALE DRAWING SCALE: 1:20 | WEIGHT: | SHEET 1 OF 1
8 7 6 5 IT\ 3 ! 2 ! 1




©20.6 THRU
| $80V 25
STAMP FACE —~ 6706 ™ TYP. ¢
@ & -
x\ i STAMP FACE— @ © © © ©
FRONT ++ + ++ ++ + + o+ + ++ +  + i - 757 4.‘ ‘L141 ‘
71 — - { 141 | 1371 ——= REF.
150 —= - REF — 1525 — =
300 —=—= ©20.6 THRU - 2129 -
- 757 TYP. - 2743 -
——— 1072 ———= - 3501 -
- 1222 —= - 4115 -—
— 1522 — = - 4267 =
~ 1672 —= JOIST B
- 2129 — =
141 x 141 (6x6)
- 3501 — _ SCALE: 1-20
— 4873 - (6 REQUIRED)
— 5034 —
- 5184 — ﬁ——
— 5484 — — w {1899 o
— 5634 — ©»20.6 THRU E
= 6091 = STAMP FACE TYP. ¢
- 6406 -
- 6556 —
| 6635 — —+— —+— —6— —o— —— —o— —— F=-=3
71 =] [~ »‘ ‘L
FLANGE —~ 821 141 REF.
141 x 191(6x8) 2 1759 ———=
SCALE: 1-20 -
©20.6 THRU (2 REQUIRED) — 1900 — B
TYP. - 2696 -
- 2837 —— =
STAMP FACE — 3587 -—
FOR NORTH - 6706 -— 71 241 e 3658 -—
MEMBER ( " REF
CROSSTIE (Reversable)
\ + ¥ + ++ ++ + + + + + ++++ ++ ++ + 4+ D
FRONT | | 141 x 141 (6x6)
150 = = (? GEQUI RED)
300 <= ¢20.6 THRU (¢20.6 THRU
- 495 STAMP FACE FOR TYP.
SOUTH MEMBER
~—— 757 —= XF {! ——— ¢
~—————— 1072 —=| L ¢ |
—~ 1222 —= *f% *1? T A ~—+ 150 L141
- 1522 —= 75TYP = (=—
B 1672 "~ 270 TYP —<——l : REF — 300 e
- 1878 —= :
|- 2129 — = 420 RISER
- - TYP.
141 x 141 (6x6
- 3501 - ~ 1140 = SCALE. 120
- 4472 -— (6 REQUIRED)
— —
- 4719 . | UPPER STRINGER SPLICE .
- 5034 — 141 x 141 (6x6)
— 5184 - SCALE 1-20 206 THRU
— 5484 - (2 REQUIRED) :
- 5634 —
- 6091 - L & v 4 -
— 6211 - |
- 6406 - ?20.6 THRU 150 TYP. —=  |=— b 14
— 6556 — TYP. 300 TYP. — == REE.
— 900 — r
\T _4;_ _49_ _49_ ] ¢ g
STRINGER
141 x 241 (6x10) botval =~ | LOWER STRINGER SPLICE
SCALE: 1-20 ' - 900 - REF. 141 x 141 (6x6)
STAMP FACE (2 REQUIRED) SCALE 1:20
©20.6 THRU (2 REQUIRED)
& UPPER FLANGE SPLICE 20.6 THRU a
T 141 x 141 (6x6) TYP. 2
FRONT + + + = SCALE: 1-20 o
17— - f 141 (2 REQUIRED) 4{ N 4+ B ¢
REF.
B 1590 150 TYP —= F— 141
300 TYP. — REF.
- 2872 — '
— 900 —
- 4094 - I
— 5833 = LOWER FLANGE SPLICE HOLES ARE TO BE DRILLED CENTERLINE
- 5950 = UNLESS OTHERWISE NOTED
1000 141 x 141 (6x6)
SCALE: 1-20 — A
STANDARD RAIL > REQUIRED) I <& I Cisheries eJrP%cChe%snS
89 x 141 (4x6) & Oceans
SCALE: 1-20 @
(2 REQUIRED) ' UNLESS OTHERWISE SPECIFIED: DATE NAME S mda | | C ra f-l-
TDCI)I\[\lIEE'glASIé)(I:\IESSfARE IN INCHES DRAWN 12/11 | WSL Harbours Branch A
- 3352 o A S T 2011 REVISION
3.657m WIDE STANDARD
- FOAM BUOYANCY BILLET PROPRIETARY AND CONFIDENTIAL ITFgLEE;:E‘TC%EgIg\EE&Rlc QA. FLOAT MODU LE
Sl (5 REQUIRED) D| Fw2sto01 | J

W

CANADA IS PROHIBITED.

APPLICATION

DO NOT SCALE DRAWING

SCALE: 1:20 | WEIGHT:

| SHEET 1 OF 1

5 ‘T‘ 4

2

1




TYP. 2 PLACES

FLANGE
141 x 191 x 6706

FIGURE 1 ASSEMBLY

SCALE: 1-20

STRINGER

141 x 241 x 6706

TYP. 2 PLACES

HEX BOLT 19 x 508
C/W WASHERS AND NUTS
TYP. 10 PLACES

1218

FIGURE 2 ASSEMBLY

SCALE: 1-20

CROSS TIES
141 x 141 x 3658
TYP.5 PLACES

REV

Ad

UNLESS OTHERWISE SPECIFIED:

DIMENSIONS ARE IN INCHES
TOLERANCES:

FRACTIONAL +

ANGULAR: MACH+  BEND *
TWO PLACE DECIMAL  +
THREE PLACE DECIMAL #

Fisheries
& Oceans

PEches
et Oceans

PROPRIETARY AND CONFIDENTIAL
THE INFORMATION CONTAINED IN THIS

INTERPRET GEOMETRIC
TOLERANCING PER:

— Small Craft
DRAN 1204 | BB Harbours Branch
e '2005 REVISION'
3.657m WIDE STANDARD
v FLOAT MODULE ASSEMBLY

W GStCAD FIG U RE 3 ASSEM BLY DRAWING IS THE SOLE PROPERTY OF MATERIAL SIZE |DWG. NO. REV
Services SCALE: 1-20 SIS ST Couos D FMi2sT-002 | E
WHOLE WITHOUT THE WRITTEN PERMISSION NEXT ASSY USED ON
Ltd. OF HER MAJESTY'S GOVERNMENT OF
CANADA IS PROHEBITED. APPLICATION DO NOT SCALE DRAWING SCALE: 1:20 | WEIGHT: | SHEET 1 OF 1
I I
4 2 ]

T




FIGURE 6 ASSEMBLY
SCALE: 1-20

FIGURE 4 ASSEMBLY
SCALE: 1-20

S
-
[21]
=
LLl
).
7p)
A 1
5 .
LL
o
-
O
LL

FRONT




44 488 . : ¢
LEGEND , R ] 9 Public Works Travaux publics
_ Ihdicates Location of Outer & Iner L , , e : B Canada Canada
Flange Splice See SH.PWQ.M,SA iMBe SITEAR ol £ SITE 35 N
N Y ‘ V  Ihdicates Location of Outer 4 lmer <A | . . YL N
r\?gf /75'”2*5 Stringer Splice See Std.Dwg. 8 d ¢ M8e ‘ [, i_ﬂfﬁchlflc Reg}?n
[ [ A A ATA 7 A hdicates Location of Gl10x|220« 2440 Lg. ) % W g"';rau_r |
N u:—-— - ~ = ~ 5 & - — Billets ' ' 3
) o ARG = = ~ r re Mitbanke, Ocean Bay a
(r)w | . Sound {9 . & Falts Klemtu :
O a A A A o /J S /" Indian Villags u.;
S'- T lO GQ|D NT.S. /'"(/y/\ A Scale |: 18 280 ! -
FOTATION L OCATION _CHARTS
2_3_‘9T 5 Spaces of 2590 = 28 85O 2819 Float Cognector Clip
(as per Std. Dwg. Mila
| ! . .
Exsting Pile | S .
l —r‘J% r,,l\ | ‘Ii-‘lshenes and Oceans
3 3 = | i \ \ g -Canada 7 )
&3 J::: . v - v - v . v . v \ \‘(// Appmach
0y, G v Y % T \
- u
8K FRAMING PLAN L
I1e0o \«H\j /Exi'sfi’ﬁg 524410 058 Gangway
New Goodx4d 200l
New Floal A3 Bobber Log 9 \ (/
Approx, Location of new 5320 - I
| BPZF;EDx 4 000Lg Gangway e SECT |ON @ ‘U \\
Pad. Sinilar to Std Dwg M2~ |« ¢eco - B - 125 - o — - i
AN | | New Float ' || ﬂ
= .
| l40 < 241 Outer 5’rringer-/-k \\_,-———'” =1 Ewish'n? Float 'B' to be \-n\\\
140 x241 Inner Stringer ———_| {\—\ ‘\ -lrné'fhfd ﬁiﬁi'ﬁm”a] \§ \ »
140 x |9! Cross-tie \ S ! ' "Z
Billet  Thlg L D Y
< \ N \‘ ) ~ L /
89140 Guard on A \ N/ N J\/
0 89 x o Kais ers ——- st logt 'C' <
Float Comnectors as per = T | ‘\ , . , E?}Id Hﬁmigg | Oy\ | J \gl\
3td Dwg. Mlla < 5l x 203 Deck \ \ \ Float Comnector Clip as per Std. Dwg M 114 ; o = S|
S P = AN ; C?Bore Outer Stringer to provide flush o be relocated & | — , ||
51 x %05 Rubbitg Board \ S \ X - installed in this location o
4Ox 140 Joish \\ syrface on ouvtside ds shown Usina New Flaat O% \ \
T ° 91x292. Cross-hie e - \ — Cjﬁecf;:s cloed‘?er -
(OH each end 0](‘ Float @ \\ ‘\ . Exist f@ Piles 1o remain Std. Dwg. Mlla— (;( \/\O
I&:Ldu’y*&‘—“—“—‘-'—-—%§ | ! , \L ]'—"\‘ j /I Kj///
= ) ] V'S N o e N LAYOUT  PLAN
5 =1 | "L Vs T i i AVOUT |
V / L & ‘/ /r \ C:) U revi;ions | date
~ : A\ // | 25¢ x 3oolg. Kad through b — —
8 LT N e [ e e 10140 Fille Tinber ~ iAo 241 ler Sttiger 920 Cuard o Agealog
0 % \ KL\ L/L/ [ Bl 203 P‘,%k‘ ™ ‘ / [dox 24l Outer Stringer | 8 location drawing no.
— 7 [ \ ] | L Ry l40xl40 J 0'5*5/\ ) : ] //51 « 205 Rubbing Board Cg;gvg;g%g?-
- | // \, ,\</ 7 M ¢ 2= i E— s m— S /0191292 End Css-tie -
| / ' : — ' : ] T (oL _ >SI_E___ L D= DK dkdhy " on each end of Float project projet
IJI Pz — " L O \;L__ ( ) i K 4o |2l Ovter Flange KLEMTU, BC.
< Float Connectors as per <QD PART FPLAN ' New G0O ¢ x 4 20014 Plef FLOAT
‘f l] Stel. Dwg. M 1l a 'Bo " 4@ 4@” Pobber Lag 40191 Inner Flange CONSTRUCTION
. / ||
| - ———— — -
7 —~ ,‘? rawing ) " dessin
L-Exisﬁng Float ‘A fo be relocated END VIEW drawing dessi
4 installed ds shown 1125
+ CONSTRUCTION
- . -|dox |40 Joiste Blx 205 Deck [40x 24| lnner Stringer e r -
I'jg "'I%é’ol g’”ﬁf’]{ Sftingers -~ / [40x 24l lnper Stringers y / ’ / 140« 140 Soiets ? DETAILS
40x 140 Doiste o ' 3y 140 &
' Bl x 203 Peck. ) 89x140 Guard on . /
\ \ 778 / / , ’: /‘ 89x |40 Kaisers ——. - { D658 / ( o .
- — ] | - i ‘ 140 x 140 FillerTimber . . : L
- o > : E - /53,5 , 755/ T Tl L 8 864 | _\ebe _ _ Tl N
AV . T 6BG /.F,q 864 \ﬁri =1=1 " __; /,-_ T T —'!s \ !
l = [T N\
% / —i/ T BX -l40 x 241 Outer +§+ringer ~ 71 AN | | | _ I ) I I""é
ey ——— el 140 |9 Cross tie ——— AT AT AR —eT ST 77
X Z DKL IRl 51 205 Bobbing Boad S DA 2L Ted W 17
|~ - | ] i , =, ~ e ) T - .t
N = _ % T B %
¢4 M 4o x 1D Ouvter F lg}ngg %] 4 4 o
~ S = . ] — ] ' Tender ~ Soumisslon
e -ty : -l , 1440 . - | 4457 ﬁi_,”?éz 7 bL \ 7 '4‘-’51%' — ‘J Pfﬂ!ﬁ?f Manaeﬂ_w Admigfaig?ts N
\ AL =140 x (@1 lnmer Flange proleet rumber e cuprolet
l4ox 12| Inner Flanges — S E ¢ S\ | ~5ix 305 Kibbiig Board SECTION @7 ‘69”5” _
- ' 25 —  drawingno
| of |




R AT — s T S A R i A, e i A T _ - X P S R P - _ T e i P NN e S WA i
o | PHASE TRANSFORMER
L ys0] 7 1 _—TRIPLEX RACK IS KVA _
St YIT* ¢ 2-4KV-i20/240V, [MAIN DISCONNECT | | .
| 55 WATT L.RS. LUMINAIRE - AS SPECIFIED [ § i ! ' | |
~:;\’ " 3/14 soW CABLE - - : 2Pfgo\ CABINET No, | i ! Public Works Travaux publics
SERVICE cAP” l};% e ATT. CAP - L6 - 157 cO00r § 3 ! 28A . |[2P/E0\_CABINET No.2 Canada Canada
T B o e 5 - - | N
o 5-15 o +" DOLPHIN ' _L = : i ifi )i
3/1 TECK- s b . ARRESTOR — Pacific Region
/ P T 2/14 TECK ¢ © = - — " LP/T5\_APPROACH LIGHT _ e
” | [ I 5 = | POLE SPACES ‘ F""‘*'
‘ _I FLQAT [ |
| s j20/240 VOLT MAIN DISCONNECT | ‘Al 2:4/4-16 KV DISTRIBUTION PANEL ~ 12 CCT.
: 200 AMP — FUSED AT 125 AMP A I A.N.A,
| | C/W SOLID NEUTRAL - SUPPLY 120/240V., 1§, 3 W., 200 A. MAINS
3658 ; , IN CSA-3 ENCLOSURE \ i ,
mim - SINGLE LINE DIAGRAM N. T.S.
T el —200x200% 4877 mm \
T TREATED TIMBER
[ »____»_Hssnwc% MAST
| B (SHIM TO SQUARE) ,_‘ LEGEND
ioar ..ﬂNOTCH HANDRAIL ‘ Jesm
18 rosuiT \ : [F{ RECEPTACLE CABINET & L.P.S, LUMINAIRE
,,,,, : . A S, 1
| \ | ) | ]  oisTRIBUTION CABINET
g 18 ROt e T GAPLE E “(,' g‘ FESEJ%J%VQUT}R&A'}'_?S,?T PSS : B TREATED TIMBER MAST -~ 200 x 200 x 4877 mm
| R AS REQUIRED BY C.E.C. EXISTING POLE ARRESTOR — AS SPECIFIED, '
3 i & ‘. (APPROX.LOCATION) " ., 3{5‘:‘(\4) (O EXISTING WOOD POLE
Ly | B 74 GUARD ! /\ DISTRIBUTION TRANSFORMER
_\,f’-—‘—.-:ﬁ - N R .' \ "(JZH(W DECKING 3/1 TYPE G—\-\ :
< R J_Lf_;//w/; JUNCTION BOX g k-- — _4.
ol e ~ 5 [ Vi - 3/14 TYPE SOW
- cg%o%'?ém BN To PANEL. . 3/I TYPE G “— 3/1 TYPE NS=1 (TRIPLEX).. }
e N\ ] TO PANEL. \ sommrm———d
AN ! . MOUNT AS FOR T
| STRINGER |, 1\ -PILE CAP ~ CUT TO SUIT DETAIL 'D’ = !
£ —h , == a NOTES
| g e E - L | A. RECEPTACLE CABINETS ARE SUPPLIED BY PW.C. (AS SHOWN
! IS “No. 4 BARE COPPER — GANGWAY L IN DETAIL 'C'). CONTRACTOR SHALL SUPPLY LUMINAIRES &
1 AN 19mm DIAM: HOT DIPrGALY. o J/,M-Qﬂﬂmas” U APPROACH | At 3/4 TECK LIGHTING MASTS AS SPECIFIED.
| T, MACHINE BOLTS S/ NUTS, L I B. DISTRIBUTION CABINET 1S SUPPLIED BY PW.C. CONTRACTOR
s Bl SQUARE WASHERS ON Vo 3/6 11 SHALL SUPPLY A NEW PANEL AS SHOWN WITH A NEW 16 ga.
\ e BOTH_ENDS. Lo TECK - | STAINLESS STEEL FACEPLATE TO PROVIDE "DEAD FRONT™
' ] ane e . i CoNSTRCTION
> TiM8 H Lo u C. CONTRACTOR SHALL SUPPLY TRANSFORMER AS SPECIFIED
' MATCHING PRESERVATIVE. | ) & INSTALL TO MEET BCHPA ENGINEERING STANDARDS AND
‘\ i C. E. CODE REQUIREMENTS.
| g | | I -
SERVICE MAST - DETAIL D s 1s | mji D. INSTALL GROUNDING AS SPECIFIED.
| 'moarDwALK !
| i
| ; |
v !
\ ‘ !
. |
| ,
“ |
\ |
|
\ |
I
: I
Y\*. = | O
‘0\ 0 -'l_JO
4 d et
| L N ——— - —— —— o —— - oo
'%J FLOAT 'B' !
' |
FLOAT
ICI
gvisions date
SECTION THROUGH PIPE MAST AT TENON - DETAIL 'E' SITE PLAN _ SCALE___ 1 200 Adetai o
_ i no. du déta
SCALE 11 \ B location drawing no.
sur dessin no.
C drawi .
— dessin no.
| g EXISTING 50 mm THREADED COUPLING] project projet
ORLIGHTING MAST 1
£.S. LUMINAIRE _
r 1ED -~ SUPPLY BY CONTRACTOR K L"E MT L’ ’ B C
o SEE ETAIL '€’ EXISTING 100 AMP PANEL C/W SMAL.L CRAFT HARBOUR
; GCATE LUMINAIRE OVER CENTRE OR CONNECTION - 3
B FLbaT a3 TEnon. i IP /18A CIRCUIT BREAKERS
5 INSTALL POWER AND
AT.-SERVICE MAS LIGHTING SYSTEMS
SE C T B s _ o
APPROACH i SEE DETAIL 'D' . _PIPE MAST - AS SPECIFIED : ———EIGHT EXISTING ZO0A TWIST LOCK o
3\ i SURPLY BY CONTRACTOR - RECEPTACLES o -
- b : drawing dessin
T ;
; 2048 | ———PROVIDE TYPED CIRCUIT DIRECTORY
| - _‘ DISTRIBUTION CABINET L | RECEPTACLE CABINET
, g”,fgﬁi&me.ﬁgmﬁElg%ﬁmgg’;égiéu-‘"e PVG BUCT \«" PROVIDED BY PW.C. | “"TSUPPLY BY F.W.C
GANGWAY MOVEMENT AT TIDAL EXTREMITES ~ bl !
‘ _ VL ; INSTALL 180x140% aaonmm drsigned congu
:‘ ! 27 TREATED TINOER F 5’ P UERT N O BT
: i9mm DIA HOT DIFPED BALV- WACHINE BN GHBINETS iRy date ‘ . N
e, | BOLTH, SOmm 30, WABHER, LOCK WASHER ! drawn Togsin
A FLOAT 8 NUTS (4 SEYS PER CABINET) ) L AG
q é date - !ﬁ
LWL, — e \.\ b STl Sl ety i " - MAIN LUG SECTION reviowed T examie
KELLEMS GRIP CABLE CCNCEALED
dﬂ"lé — N R e
P~ ' T S appr 8
date
Tender © Soumnine
BOTH ENDS OF
: + PW(C Pl‘()ie(;l Manaaer Admimistrateur de projets i
Wprojectinmnbm 7 o dapraged
- 100557 - K
]
GANGWAY WIRING - DETAIL 'A x — e - J
- - N.T s - = .19 no. no. du dessin
E - of |
s ——— P O e 0 S S o ——— - N A I””'“”l | l i - - | - ! Lﬂi D e N ——
PWC Al 0 10 e a0 &0 o0 100 120 140 180 200mn




	Float Assembly Drawings.pdf
	FM9-END-200
	FM9-END-201
	FM9-ST-000
	FM9-ST-001
	FM9-ST-002
	FM9-ST-003
	FM12-END-200
	FM12-END-201
	FM12-ST-000
	FM12-ST-001
	FM12-ST-002
	FM12-ST-003




